Best model for HELP_J142846.952+342558.854 at z = 1.011 x%=3.0
OPTx?=1.65 IRx?=8.98 threshold (OPT IR)=16.09 [um]

2 | : Stellar attenuated
10 E e s Stellar unattenuated
] . I:F —— Dust emission
101 3 : [F —— AGN emission
E = Model spectrum
0_' - ® Model fluxes
10 M oObserved fluxes
E 10—1 4
£ ]
é 10_2 —;'".N"?‘r"-rsT._\FMh
T 10-3 _ miy
m
10—4 4
107 + m
bad ]
2 0-6
<07 4
© == (Obs-Mod)/Obs
3 ]
o 11
n
] 0 e - e e i e ] i ——————
—_
()]
2 ]
S ]
& 100 10! 102 103 104 10

Observed wavelength [um]



